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= ~ SECTION-A: MACROECONOMICS IS

l. Rﬂd the following mtements carefully: . 1
28! Eilnit'ﬁent 1 : APS can be negative, b
i3, smemcnt 2 : APS is the ratio of total savings and total income. e

i choose the correct alternative from _l._h_q 5IF’

., Inthe light of the gwcn statements,
Ry (a) Statement | is true and statement 2 is false

- L (b) Statement 1 is false and statement 2 is true
' (¢) Both statements 1 and 2 are true

&
|

. -

"; (d) Both statements l and 2 are false e
S e
e Bahncc of plyments is in equlllbnum when:

y h (o) Current account ba]ancc + Capital account balance > Zero
(B Gurrcnt account balance + Capital account balance < Zero it
(r:) ‘Current account balance + Capital account balance = Zero 1 .mﬁ-‘

d}_,allofthm R Al NS !

Unwnh an increase in SLR, flow of credit in the economy: I
- @i increases | (b) decreases |
{c) remmns unchanged LOUKT (d) none of these -
Rud tl:e follnmng statements carefully: : ' |

s"“?'““t 1: l‘7-"P""laﬂ<i unport of capnal goods is mcludcd in the currcnt ACC *’I’1 nt

%§Mment 1is true and s:atcmcﬂt 2i is false
Statement 1 is false and statement 2 is true

miemcnts 1 and 2 are l:rue
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the given stateme
- the light of nts, choose the
.ﬁ Gratement 1 1s true and statement 2 1s false Correct alternative from the follow; e

\ Sratement 1 i false and statement 9 js
( ) poth statements 1 and 2 are true
@) Bo Both statements I and 2 are false

rue

-y ) i |
i{ 5 £l '
L 1 "w ‘ . . W
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SPECIMEN 0023

| n the basis of the above image answer the following question;

.;_ eahovf: 1rqage indicates to which of the following? :
fJ Stock variable '

(! J "Flow variable
c) jhther stock variable or flow variable
d) Neither stock '-armble nor flow variable

. Th relauunshlp between multiplier and MPC is:

(a) dlrl:ct Bie (b) indirect

¢) one-to-gne ' (d) none of these

Sheie OR

.h oL huusehnld cunsumptlon expenditure = T 9,000, private investment expenditure
“’ 7,000, government expenditure = ¥ 12,000, exports = ¥ 1,000 and 1mpohs < 3,000,

th ‘]ml of AD in an open economy will be:
)< 16,000 : (b) T 26,000

) T 23 ooo 0\ 2 (d) T 29,000

& Transfer of value has become easier with:
'“5 ﬂ?oluuﬂn of money . (b) storage of money
' ’ casure of value (d) all of these

| “"--F at the fnlluwmg data of a given country.

S

|
t‘}”" aly

_|a_ = o

2o

Exports (6f goods)
Imports (of goods)
Net invisibles

Scanned with CamScanner



&

‘Bala $ftndeh unfi wurable f the country
| (@) Bﬂm ot‘ pnyment mnnot be determlned by the data

i £ (c)j‘l'hcre isa current account deficit of 30 million US dollars
S 'ff‘(d) There is. a capnal account surplus of 50 million US dollars

OR
Bt . Moo Export 126
- Import 165
s A Non-factor services 29
. Income 8
Transfer 14

On the basis of the above-mentioned information answer the follow;

ng ~ .-.. % | |
‘The value of goods and services balance will be: qmum

e (a) T 4 crore (b) T 18 crore
_'_* : (¢) () T 18 crore (d) (=) T 10 crore ; _'
| X 9. Read the following statement—Assertion (A) and Reason (R). Choose one o[
- alm:mesgwenbelw 'ﬂ"’ |

&uerhon (A) : Desired investment expenditure is not related to the level of NCoMme |
7" the economy. e

Rmu (R) : Desired investment expcnditurc is assumed to be autonomoiﬁ;:.
Alternntlm Tyl r';f |

;E.(q) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct ... ana
~ of Assertion (A). . :

4 (b) BothAsscran (A)and Reason (R) are true and Reason (R)is not the correct ¢ T
g ., = Dfﬁsserutfn (A). | Pt €xplanatio
4 {5 Assertion (A) is true but Reason (R) 1s false, R
‘9 Assertion (A) is false but Reason (R) is true. | ""z
0 Rﬂﬂ the followmg statement—Assertion (A) and Reason (R). Choose one of the correc
al_temaﬁves given below: ( u;'
Asaerlion (A) : Consumption function reveals the behaviour of houuchold co sumpuon
expenditure with respect to the level of income in the econor my -

Reuon (R) i The entire increase in income during a particular penod is ﬂ'f-' v et

P

-I.-rl""l.
ri jLiLS

: > .
G ?. A o cpnsumpuon.
- Altern:

e ) T‘_%‘I_'!"'H#‘ i
"Znse;pgn (4) 2 ci Reason,: {R) are true and Reason (R) is tht: 0! .
y OE'T:',:-EP:E!iQ%%I ‘H:;‘P;&‘rt :f';.l ' & ‘p " “. { 1.1 2
() Both Assertion (4) and Reason (R)a ucand Reason (R) is not the ecorres

- . . 1 - -I'-h- i - : ;: '. b p

- _' - ]
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) Ass rtion (A) is true but Reason (R) is falge,

'_A-'”'eﬂjgn (A) 1s false but Reason (R) i§ true ' 4

" pglculate ‘Sales’ from the following data:

1

~ Items

(i) th value added at factor cost (¥ in lakh)
“‘)_‘;Intcrmediate consumption 300
é‘) Indirect tax 94()
(tv) Depreciation 30

() Change in stock 40
. ; the reason for inverse relationsh (=) 60
jemand. Ship between price of a foreign currency and its

How does balance of payments reflect
puntry?
Suppose 1n a hypothetical cconomy, the savings increase by ¥ 20 crore when national

ncome increases by *!' 100 crore. Compute the additional investments needed to attain an
ncrease in national income by ¥ 6,000 crore:

_____

b

rs_j_} ng reasons, state whether the following statements are true or false:

supply, demand status of foreign exchange for a

(1} When investment multiplier is 1, the value of marginal propensity to consume is zero

@) If the ratio of marginal propensity to consume and marginal

| | S propensity to saveis 3 : 1,
the value of investment multiplier will be 5.

'T the following case study carefully and answer the question on the basis of the

i

mior to the commencement of the twentieth century there had been no clearly defined
oncept of Central banking. Gradually the control of currency and credit vested in one
ank with the support of the State and Subject to some form of State supervision and
participation irrespective of the stage of economic development in the country. Among the
dassical economists, Adam Smith emphasized the role of a “properly regulated' banking
-,?;.,_.T__'_- which in his view would provide the appropriate amount of money endogenously
brough the expansion and contraction of credit. According to Smith, the introduction
of b : s and credit money would have a once and for all effect on economic activity by
Eleasing for production, social capital previous tied up in stocks of money commodity.

However, once the banking system was in place and functioning according to rules, the

'“” of money, now endogenous to the system, would have no independent effect on
‘-ﬂhq of economic activity. As a matter of fact, global thinking on munetar);l managFt;r.lf]rlll
80d by implicati ' ved over time in accordance with the &)
&m]phcauun, that on Central Banking, has ew::tl ed mer*u in B
#ging perceptions regarding the role of money in €conomic activity. oA

: S. Hasan Qayed, Role of Central Bank in Monetary Managementof
et ammwmmmmm&mw,{ i
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‘cash reserve ratio’ i8 helpful in controlling credit Creation,

Explain how OR
functions of accepting d“"lf’ﬂ‘f-itas and mak;
‘While performing their P B 0 liers of money.” Explain, 8 H¥angy

the commercial banks happen
16. (a) 'Real Gross Domestic Prod
Gross Domestic Product’.
Do you agree with the given §
‘example.
(b) How will the following be trea
(1) Value of bonus shares receiv

(1) Fees received from students.
(iif) Interest received on loan given to a foreign company in India, |

uct is a better indicator of economic growh .

atement? Support your answer with a 3“113b]¢ i B

ted while estimating national income of Indiy3 Give
ed by shareholders of a company, m‘!ﬂm_

Fill the missing blank in the equation above along with defining the conceptag d

its implications. gt e
(5) What are non-tax receipts? Give Some €xa mples.
OR
(a) Why are subsidies treated as revenue expenditure? h. j!-{-s! %

(5) In the budget (2016), the gnvernmenl has hinted at lowering its expe ﬂdﬁmm
subsidies. Examine the economic value of this policy. i 3

.-m .
o8 1
SECTION-B: INDIAN ECONOMIC DEVELOPMENT W
18. - is one of the main positive contribution made by the Bﬁ“”h,'_‘}'é*ﬁ
(a) Introduction of Railways (b)) Opening of Suez Canal SHE |
(c) Introduction of Population Census (d) None of these 3 ﬂ#

19. Fallowing is a practice of | . (Fill up the blank with correct Mﬁ -
" (a) fixing'the maximum holding-size for an individual farmer o |

(b) leaving land free of cultivation for some time so that it regains its feruhty e 1
() allotment ofland to the farmer at one place, in lieu of his scaucred pleces of ianﬂ ittt |

places
. (d) none of these l '
OR &
For a small-wnle mdlutry, annual furnover limit is:
(@) < R10, STOTeRh gtoas 14 o o (b) < 20 crore
() <250 crn" M (d) < T100 crore ¥ R

Scanned with CamScanner



‘;lr

Chiﬂl: commune system is related to:

L‘i mccs

1959
1980

:' nective items in Column I:

S
——-r

= .-ﬂ'-|._"‘ { <
. Columnl &

.1,.‘._.

| Child Policy was adopted by China in the year:

G 1972 (b) 1975
3 ,11979 (d) 1982
" OR

(b) industry
(d) none of these

whn:h year was nationalisation of commercial banks started?
(b) 1979

(d) 1991
; denﬂff the correct sequence of alternatives given in Column II by matching them with

- .-'-'\‘ '-“ - L #
Ly A -t'.-*

L e
e ———— L —

Egmblmhmentu[ Pcuplf:s Republic of Ehma (i) A cause of re-emergence of poverty in |
'J Pakistan
'B. Economic reforms in Pakistan (if) 1949
'G. Lack of political stability (111) Conducive to foreign direct investment
D. SEZ | ) 1088

Alternatives:
: P, —-(:]. B—{tv), C—(1), D—(ut) (b) A—(@n), B—(1), C—(w), D—{u)
f.."”-*.* —(iv), B—{(#ii), C—(i1), D—(1) (d) A—(iii), B—(iv), C—(1), D—(1)
| the following statements carefully.

Brain drain refers to the migration of

countries of the world.
‘Loss of skill' causes a dent in the process and pace of growth.

In d he e light of the given statements, choose the correct alternative:

{a) tatcment ] is true and statement < 2 is false
"k-l*?'f"r atement 1 is false and statement 9 is true

¢) bth statements 1 and 2 are true

H oth statements 1 and 2 are false

ad the following statements carefully.
':7'f'L' ment 1 : Experience of [ndia shows a

“ tertiary sector.
laten nt 2 : The economy of India has integrated

t1: skilled manpower to developed
.,. Il'a-i eu

Satement 2 :

majur shift directly from primary to the
with the global economies at & faster

pace.

= |
107 \\\ o |

S
Bero "-
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(b) §ute§nengl is false and
A i P MR T T P e
() Both statements 1 and 2 are tru
' (d) Both statements 1 and 2 are false

25, The Chipko movement was launched in

B
i &
a

o

T | ._ (Fill up the blank with eﬂ‘ﬂ'e:t
(@) Utarakhand e natara o ey
(©) Jharkhand (d) None of these <l
OR B
S A Which of the following is an abiotic component of environment? o
" (a) Bacteria (6) Animal 113
. (¢) Humans (d) Minerals ‘i
..%26.'; Read the following statement—Assertion (A) and Reason (R). Ch S
- alternatives given below: g nn{‘_ﬁ € COrpe,
B Assertion (A) : Participation rate is measured as a ratio of wor
| of the country.
| ‘Reason (R) : Rate of participation for women is hi
X rural areas,
R - Alﬁﬂrnaﬁveu- =
| (ﬂ) Both Assertion (A) and Reason (R - -
iz - s "(ﬁ)*' (R) are true and Reason (R) is the t?.,;:j lanatiog
: (6) Both Assertion (A) and Reason .
L of Assertion (A).
(9 Assertion (A) is true but Reason (R) is false.

L ¥

.. _.‘;‘
0 : Eum‘ .Ie'i. o101 s
. '_r-":a-lrtt__:- I.
P ;:II L A

gher in urban areas comy

pared w1

ol
-

»

-

(R)are true and Reason (R)isnotthe

¥
-

*
i 3 -

O N OEN :
- (@ Both Assertion (4) and R b o)
e R - B it

T AN T
-'\"‘!r' -Hj ] 3) | . .
- %) PothAssertion (A)an 14y , BRI
[ Shise s 4y d Reason (R) are trueand Reason (R) is not the correct explandi

-
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e W W ?
3 How poverty leads to low wages -

inversification of crop production is the need of the hour for Indian agriculture.’
‘Comment
B\ cwer the following questions on the basis of the following data:

L opulation growth rates among the three countries.
{f) Comment upon the pop 8 . &
s Which country has most skewed sex ratio?

- = T B A o :r' 5 "'_J.."F,:‘E";T;ﬁ FITar Y
J ;'r.?:‘{-:-;-; . vLLITh A B : ot b= b inier
1 el
1,811 1.2 929 |
1,573 0.5 941
A 188 2.1 947
'lﬂ i %

Source: World Development Indicators 2015, www.woridbank.org

4) What do you mean by globalisation?

b) 1 _agricuf.lural subsidy a vice?

OR

| ‘ ‘ ' on the eve of
Why was there a need for state-led - 1dustrial development in the country

“' ndence? Discuss.

| nw is literacy different from educatinrf?

""}F‘g' rlain how investment in education stimulate
T-i_"_, n by rural development? B

development.

B) State any two challenges facing rural developm

s economic growth, |
ring out the key issues in rural |

ent in India. .
ism of agricultural marketing:

3 ;ltiﬂn some obstacles that hinder the mechamsm
="
103 N\
8

Scanned with CamScanner



.i.:_ : S Y ir,‘:* o
AL, .h}_l ¥ - -:ﬂ“” 1ce of human capital in Gpp j;

{a) Wite two ODSCIVE 2 £ ey h':l‘ j;worhngin the informga] m? 'of -t.w'..f_ o
(':"' = 1lo R ke PR 0.5 M_ y '5;
e {74 Enwrpnses (MSME) sector s I8 Poigeq ¢ j |
-m.-f s :#4"2020 :h the launch of an Ahbaba-hke e'm'kﬂl’hce 551';1 sl

di products the MSME STt ratin
rs :ul loans. Howcven e sector, oﬁm COnigepy :

mbutcs around 29% to the GDP and ~oved b

t H_,:-‘ g . i T Jq Iﬂ '_| i E“.I

i o B

o, "'"‘f"f.ava;lab'l'ty of ]ow cast credit, improving ease of doing
“E gradation, t0 take on the formidable challenge of Creatn
equitable distribution of national income and achieving
ruaoioe n.The World Bank has recently approved loan worth $750 p; '- l: * i
iy edlatt lnqmdlt]’ and credit needs of India’s MSME sector tha | ]m
I""" B by tllt COVID- 19 crisis. This will give a push to the mmamfbharn

bl _ﬂa. e

--'-l A
.:;-r

}“g. ﬂ: obsmauom l:nghhghung achievements of agrarian reforn
(}};ﬁ*@; " ali sation leads tostnmnra] shift in the economy. Commm't

gy '
1§
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| clcws X SECTION A: OBJECTIVE TYPE QUESTIONS Sukbjeck -

|

g ——

Q.1 | Answerany 4 out of the given 6 questions on Employability Skills (1 x 4 = 4 marks) ‘
i. | Aminisagai ' ;

s a piece of writing with exactly words. B

- | a) 50 words
| b) 20 words
| I ¢) 25 words

I — _.._dJ_.BQ WOI‘__di S S — i /
i Motivation is based on the physical needs to satisfy hunger 1

#—_

l and thirst.

e - -
\ | Ti. | Identify the Personality Disorder, “If a person is characterized by a pattern of 1

persistent disregard for and violation of rights of others.”

\ l a) Paranoid
| b) Antisocial

c) Schizoid

d) Avoidant

iv. | Functions are Bredefinéd formulae that perfgrr;x calculations using specific values 1

| called arguments. (True/False)

— ——— I —— —_— —— e ———————— - e —— EE— — <-—+»: T

- ONEPSandformmmeEmat oo 0 e 1
[ — [ R
1

vi. | In SMART Goals for an Entre?reneLEthe alphabet A stznds foF__ :

a) Artistic

| b) Attainable
| c) Available

| d) Attractive

__-—-—-——E—

Q.2 [ Answer any 5 out of the given 7 questions (1x 5 =5 marks)__ 1
~ 1. | The person who is directly connected with rank and file or subordinates and actsas | 1
3 vital link between the management -subordinates .
— - :
ii. | “Dump bins” also called for close out items. (buffer bins/ offer bins) 4
| il The retail market place fpolarizing into a forcing retailers to 1
reorient their core strategies. (world of dreams/ world of extremes)
Iv. CMMS stands for 1
a) Consumer Maintenance Management System
| b) Computerized Maintenance Maﬂageme_nl System - o - |

—— .-_-.-—.-,_-.|-.,._|..-|.-_._—-l-l-—-—-'---J
—.—t——-——l"-—i-—-_-——!r—-ﬁ—_-"ﬂ-'—_'—-—--"
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- ement System
\\ ¢) Customer Maintenance Manag |

V. Match the columns

| . Retail store
duction
1. Point of Pro - ctory of farm

2. Point of Storage

3: Point of Sale W/‘L/"L‘r
1— T ual hiring at ¢ in the hands of a

' rest
vi. The actual hiring authority for the recruit of an employee

_— "
e = 4 meet the needs of Customer? 1

| i, What do vou called the ability to understand an

B e

—ﬂ"—-_—

R —

e —e - = —

e
‘ Q.3 | Answeranyb out of the glven 7 questions (1 x 6 = 6 marks) I \
i

B2C stands for in terms of online retailing. 1

IS : I
e-mails are the usually triggered on a customer’s action with a 1

company. (Direct e-mails/ Transactional e-mail}

[ il Identify the Call Centre T-echnology allows people to work from home. 1

a) Premise Call Centre Technology
b) Office Call Centre Technology
c) Virtual Call Centre Technology
‘ iv. [ The term e-business was coined by IBM's marketing and internet teams in 1996. !

| | (True/False)

Name the marketing through Telecommunications. 1

Trace the method of advertising via e-mail whereby the recipient of the ]
advertisement has consented to receive it.

= —— - R EI———— — 1

Readers are used to capture credit or debit card information to 1

process sales.

m Answer any 5 out of the given 6 questlons (1x 5= = 5 marks) _ ‘ :\
POS system at retail store will most often have an Cash Drawer. 1

S
S e T
____  retrieve coded pricing information using laser beam for various 1

items.

“ What refers to the area of a store where customers can pay for their purchases? 1

— S el
iv. | Identify the layout used by the modern Keyboards. qwerty layout 1
a) Poverty layout - —
Page 4 of 7

-—___-'—--I—l-ﬂl-_—l-—-——-——ﬁ“-————_—--———-ﬂ—_-ﬁ-—_"-—n-------li““-“Hﬁ—l——-—--“ — - A e S
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any 5 out of the given 6 questions (1 x 5 = 5 marks)

vi.

"a'_?—— answer any 5 out of the given 6 questions (1 x 5 = 5 marks)
| Name the Reporting Tool that provides MIS reports that help in decision making, .
analyzing the trends and competition. |
e ——
1

vi.

r

i
—— — T S S i — i — —
T — —— =eoe -.—#—-
e S e = e ———— _—-—P-.--r——-"""‘"
S —
T — — — . ——— — ——— T T —— ————

| b) Warty layout

a) Customer Life Cycle Management
b) Computerized Life Cycle Management
c) Consumer Life Cycle Management

'
L i. | Name the process that includes receiving and recording payments from the

S S

customers.

| Identify the concept throws light on the point that each transaction as two folds
| affect such as receiving and giving of the benefits.

a) Dual aspect concern

b) The cost concepts

c) Going concern concept
d) Business entity concept

e ———

: P B m pr—— R e

| The Point of Sale differs in a retail store and in a Restaurant. (True/False) .
/

CLM stands for 1

d) Convergence Life Cycle Management

Conventions are the customs or traditions guiding the preparation of accounting 1

statements. (State True/ False) |
AU S—

S

The important branches of accounting are: 1 |

a) Financial Accounting

b) Cost Accounting

c) Management Accounting I

d) All of the above

Billing accuracy is most important factor for: 1 |

a) Customer satisfaction
b) Reseller satisfaction

" c) Purchase satisfaction
d) None of the above

| a) Perpetual method

Which of the followung methods it does not require daily monitoring of | nventory
traffic and figures?

b) Periodic method

Page 5 of 7
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i

-
c) Precise method

il. | LIFO stands for
|

a) Least in first out
l b) Low in first out

c) Last in first out _ ) —

S ——————

| i, | Running out of the inventory of an SkKUmeans _____————

‘ a) Stock out
' b) Stock In
c) Stock keeping

|
R —

I

iv. | Inventory means a list of goods and aterials available in stock by a business.

| (True/ False)

| v. | Name the term used in business t
was manufactured long ago but that has never been used.

o refer to merchandise being offered for sale that 1

' — — ]
vi. lsxu stands for 1
e . = — . _— SRRy | SR
SECTION B: SUBJECTIVE TYPE QUESTIONS
Answer any 3 out of the given 5 questions on Employability Skills (2x3 =6 marks)
Answer each question in 20 — 30 words. B B
u 7 List out the four steps of Active listening. - ) B - ~ 2
Write  the importance of Self-motivation ) - B 2 J
What is the use of MIN function in Open Office Calc. B - Z
Define the term Blofuel - B 2
What do you understand | by Entreprenleurlal Cdmpetenmes? -~ ) | 2__\

Answer any 3 out of the given 5 questions in 20 — 30 words each (2 x 3 6 rnarks)

Q12 | List out the Elements of Visual Merchandlsmg -~ —\_ 2 |

Q13 Give the two steps involved to a successful and acr.:urate physncal inventory 2
handling Process-l - -

Q14 | Mention the key reqmrements that must be met by Modern P POS system B 2

Q15 | Write the two broad categories of POS system. - o N 3 \

Q16 | What are the main objectives of Accounﬁung?’ - _ _ J‘ z

Answer any 2 out of the given 3 questions in 50— 80 words each (3x2=6 marlfﬂ_ - 1

State the advantages of Telema rketlng ] 3
Keyboards are used with back office server. EXplaln the functmn of Keyboard 3 |
“E-Shopping is becoming popular now a a days”. Accordingly Justify the statement by | 3

mentioning the important features of E-Shop. B - _
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— “—-__-hul—-,.._--____

.er any 3 out of the given 5 questions in 50- gp words each (4 x 3 = 12 marks)
«20 | “The organization and the Store are built from the Customer Perspective” | 4
Investigate the statement to be -

“The key components of PO
_ | best results to the Retailer”

i ———————— . .
Dlstlngmsh_lqetween Book Keeping and Accounting. ‘ 4 |
S system work together in synchronization t 4

. List out the procedure steps of working.

o give the

Q24 | “Accounting is useful to the
statement by providing the
"——-—_—l——_____ — — — — -

management as well as other users”. Clarify the 4

functions of Accognti_ljg.
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